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Logical Expression
Boolean Expression



Logical Value
Boolean Value

True False



(=2]4) and (=T4)
(=2]2) or (=E]2)

not {=g|2])



KI2| & Truth Table

D not p
True False
False | True

p q pandq [ porq
True True True True
True False False True
False | True False True
False | False False False




KI2| & Truth Table

l

p p and ¢ p or g p not p

True True 'True True True False
False False True False | True

True

False




KI2| & Truth Table

l

D q p and q D or ( D not p

True I True True True False

I False I True False | True

False True

[FaTse | False]| False '




KI2| & Truth Table

D q p and q D or ( D not p

True True True True True False
True False False True False | True

False True False True

False | False False False




not

W[r
Hi

and

or



(p and q) and r
(p or q) orr

p and (g and r)
p or (q or r)



ors ALt

Short-circuit Evaluation

p q pandq | porg
True True True True
True | False False True
False | True False True
False | False False False




ors ALt

Short-circuit Evaluation

l

El ) ¢ pand g | p or g
True True True
True False False True
. False | True False True




ors ALt

Short-circuit Evaluation

P

True
True

) ¢ p and q

True

True

| True
True

|

P or g

False False |
False True False True
False | False False False
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== = > < >= <=

AT == <A A > (A AT >= (AT
AT 1= A AT < (AT AT <= (AT

=
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True= 12, False= 022 X2

ASCII ZE / Unicode %t




ASCII Table

Oct Char Hex Oct Dec Hex Oct Char |Dec Hex Oct Char

0 0 0 20 40 40 100 @ 60 140 ‘
1 1 1 21 41 41 101 A 61 141 a
2 2 2 22 42 42 102 | B 62 142 | b
3 3 3 23 43 43 103 C 63 143 | ¢
- 4 - 24 e 4 104 D 64 144 d
5 5 5 25 45 45 105 | E 65 145 | e
6 6 6 26 46 46 106 F 66 146 | f
7 7 7 27 47 47 107 G 67 147 g
8 8 10 28 50 48 110 | H 68 150 | h
9 9 11 29 51 49 111 | 69 151 i
10 A 12 2A 52 4A 112 | | 6A 152 | |
11 B 13 28 53 48 113 | K 68 153 | k
12 C 14 2C 54 4C 114 L 6C 154 |
13 D 15 20 55 40 115 | M 60 155 | m
14 E 16 26 56 | . 4 116 | N 6 156 | n
15 F 17 @F 57 |/ _AF 117 | O g6F 157 | o
16 10 20 ROEr™ o vty p oot
17 11 21 31 61 1 51 121 Q 71 161 q
18 12 22 32 62 2 52 122 R 72 162 r
19 13 23 33 63 |3 53 123 | s 73 163 | s
20 14 24 34 64 4 54 124 | T 74 164 | t
21 15 25 35 65 5 55 125 U 75 165 u
22 16 26 6 66 |6 56 126 | V 76 166 | v
23 17 27 37 67 7 57 127 W 77 167 W
24 18 30 38 70 8 58 130 X 78 170 X
25 19 31 39 71 |9 59 131 | v 79 1|y
26 1A 32 3A 72 ; 5A 132 Z 7A 172 Z
27 1B 33 3B 73 ; 5B 133 [ 7B 173 {
28 1C 34 3¢ 74 | < 5¢ 134 | \ 7c 174 | |
29 1D 35 3D 75 = 5D 135 ] 7D 175 }
30 1E 36 76 | > 5 136 | 7 176 | -
31 1F 37 3F 77 |7 5F 137 7177




p.100

ATE Q4= Wolx B0|H TrueE, 0| FalseE YT+ <+ evens o}
& 2] o] dtZ=o] 21431}, Ao |H Fo| Hi= =84S THEo] glEstH Ho
code : 3-1.py

def even(n):
return None # Write your Boolean expression here.

print(even(13)) # prints False
print(even(26)) # prints True
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Conditional Statement



if (A
55
else:
(EE))







if (A
=55)




if ()1
E5)]
elif <&7)s,:
=55))
else:
(EE)3

(EE)

TFa1 se

(EE))

(E5)3




if &)1
E5)]

elif &),
=5))

elif -

else:

(E=)3



if <A if <EA>q:

55 EE)
elif <X7)2: elif {&7),:
55)) E5))
elif -- elif --
else:

(E=)3
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U Z2O3S T o 8 glofA ofsfistal 35=5 13X AL

code : 3-4.py

1| score = int(input('Enter your score : '))
2| 1f 90 <= score <= 100:

3 print('A'")

4| elif 80 <= score <= 89:

5 print('B")

6| elif 70 <= score <= 79:

7 print('C'")

8 elif 60 <= score <= 69:

9 print('D")
10| elif 0 <= score <= 59:
11 print('F'")
12 | else:
13 print('Your score 1is out of range.')
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nested

code :

3-5.py

X = 1nt(input("Enter your number: "))
1T X% 2 ==
1T X% 3 ==
print(x, "i1s divisible by 2 and 3")
else:
print(x, "i1s divisible by 2 but not by 3")
else:
1T x % 3 == 0:
print(x, "1s divisible by 3 but not by 2")
else:
print(x, "i1s not divisible by 2 or 3")
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code :

3-5.py

X = int(input("Enter your number:
1fF x% 2 == 0:
if x %3 ==0:

"))

print(x, "is divisible by 2 and 3")

else:

print(x, "1s divisible by 2 but not by 3")

else:
1fFx % 3 ==0:

print(x, "is divisible by 3 but not by 2")

else:

print(x, "is not divisible by 2 or 3")

True

X

input()

True

False

False

True

print(..)

False

print(..)




code : 3-5.py

=
= O W 00 N O Ui D W N B

=

X = int(input("Enter your number: "))
1f x% 2 ==0:
if x%3==0:
print(x, "is divisible by 2 and 3")
else:
print(x, "i1s divisible by 2 but not by 3") and Io_:IIA_I-II-E
else:
if X %3 == 0: %i—l AMEHEL -l_-l-:liljl
orint(x, "is divisible by 3 but not by 2") H - 71= =
else:
print(x, "is not divisible by 2 or 3")
code : 3-6.py

X = 1nt(input("Enter your number: "))
1T x%2=0and x% 3 ==0:

print(x, "i1s divisible by 2 and 3")
eli1tT X % 2 == 0 and not(x % 3 == 0):

print(x, "1s divisible by 2 but not by 3")
elif not(Xx % 2 == 0) and x % 3 == 0:

print(x, "1s divisible by 3 but not by 2")
else:

O 00 N O Uil A W NN

print(x, "1s not divisible by 2 or 3")




code : 3-5.py

1| x = int(input("Enter your number: "))

2| 1f x % 2 == 0:

3 if x % 3 == 0:

4 print(x, "is divisible by 2 and 3")

5 else:

6 print(x, "is divisible by 2 but not by 3")
/| else:

8 1if x % 3 == 0:

9 print(x, "1s divisible by 3 but not by 2")
10 else:
11 print(x, "is not divisible by 2 or 3")
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A VNS = dobA, OF 22 - 2 sl T o4 smallerE 2HAJ51AL

code : 3-7.py

def smaller(x,y):
pass # Write your conditional here.

# Test code

print(smaller(3,5)) # 3
print(smaller(5,3)) # 3
print(smaller(3,3)) # 3
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def smallest(x,y,z):

St smallest=S ZHA]

]

code : 3-8.py

pass # Write your nested conditional here.

# Test code

print(smallest(3,5,9)) #
print(smallest(5,3,9)) #
print(smallest(5,9,3)) #
print(smallest(3,9,5)) #
print(smallest(9,3,5)) #
print(smallest(9,5,3)) #
print(smallest(3,3,5)) #
print(smallest(5,3,3)) #
print(smallest(3,5,3)) #
print(smallest(3,3,3)) #




2 (smaller &)

MEAFES ALESA] &3l smaller S 358 &85l smallest <=

gIE smaller <= 5 HYt S =E3HH 531}
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code :

2 2.

3-9.py

def smallest(x,y,z):
return None # Write your expression here.

# Test code

print(smallest(3,5,9)) #
print(smallest(5,3,9)) #
print(smallest(5,9,3)) #
print(smallest(3,9,5)) #
print(smallest(9,3,5)) #
print(smallest(9,5,3)) #
print(smallest(3,3,5)) #
print(smallest(5,3,3)) #
print(smallest(3,5,3)) #
print(smallest(3,3,3)) #
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Infinite Loop

2|0 g

while True: 0
(&)
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Infinite Loop

= >
while True: o
<%§ True
(&)




7e

while (Z#A):

(=5

= 1




pp.115~117

<7 \S

AN T 4 Al M| A

TNE2 Hi HrE Al T2OH S A} 7| RE Yo 2 AREAT} A
3 AR I5-0] 7ot ZF IEe] Aaolt), A3 AdA v ol A=
gilo}l Pt H4-E AlLEsle] 3HH| T ESIE= St

Score Average Calculator
How many classes? 5

Enter your score: 86
Enter your score: 92
Enter your score: 94
Enter your score: 82
Enter your score: 79

Your average score = 86.6
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Score Average Calculator
How many classes? 0
Your average score = 0.0
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code : 3-13.py

1| print("Score Average Calculator")

2| number = input("How many classes? ")

3| total =0

41 count = 0

5| while None: # Write your loop condition

6 pass # Get and accumulate scores

7

8

9| 1f count > O:
10 pass # Compute and print the average
11| else:
12 print("Your average score = 0.0")
S 70|IE
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Input Validation



Bl object

" 365 n

"365.0"

" _17"

"freedom"



A object

222 class

n 365 n

"365.0"

" _17"

"freedom"



222 class




222 class

sStr

o= isdigit()




M=

method

(BEAFE) .isdigit()



Lkl

method

(BEAFE) .isdigit()

ll365ll II365.0" l|_17ll
A
isdigit() T l isdigit()[ l isdigit() l
True False False

=
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Input Validation



X = 1nput()

while not (Z-¥}Z71):

X = 1nput()



X = 1nput()

while not (Z3}Z7):

T x.isdigitO

X = 1nput()
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code :

3-14.py

from math import p1

def area_circle(radius, n):
1T radius > O:

area = pi * radius ** 2

return round(area, n)
else:
return 0.0

print("Circle Area Calculator™)

y
while more == 'y':

more =

r = input("Radius? ")
while not r.isdigit():
r = input("Radius? ")
p = input("Precision? ")
while not p.isdigit():
p = input("Precision? ")

area = area_circle(Cint(r),int(p))
print("The area of a circle with radius", r, "is", area, ".")
more = input("Press y to continue, any other key to exit. ")

print("Please come back again.")
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Score Average Calculator

How many classes? five

Enter a positive number: -5

Enter a positive number: 5

The number of classes = 5

Enter your score: 86

Your score = 86

Enter your score: A

Enter your score between 0 and 100: 200
Enter your score between 0 and 100: 92
Your score = 92

Enter your score: 94

Your score = 94

Enter your score: 82

Your score = 82

Enter your score: 79

Your score = 79

Your average score = 86.6
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Index

"HBE T "HBE T [0]

"HRETE (2]

0 1 2 3 4
-4 -3 -2 -1

-3




"HBENTE " [1:3]

E-

-4 -3 -2 -1



"HEETE[1:3] "HEE e [3:5]

0 1 2 3 4
--
-5 -4 -3 -2 -1

4 -3 -2 -1
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-4 -3 -2

-5
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(=2 (B ZAE)

b

s.partition(t)

"3.14159" .partition(".")

v

(ll3|l, I .Il, |l14159ll)‘

m

E(tuple)
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© ™ FalseE WF+ isinteger 3+ thad 2ol 2 o+ ot
code : 3-15.py
1| def isinteger(s):
2 return s.isdigit() or \
3 s !=""and s[0] == "-" and s[1l:].1sdigit()
4
5| # Test code
6| print(isinteger("55")) # True
7| print(isinteger("505")) # False
8| print(isinteger("-55")) # True
9| print(isinteger("--55")) # False
10| print(isinteger("---55")) # False
11| print(isinteger("5-5")) # False
12| print(isinteger("55-")) # False
13| print(isinteger("+55")) # False
14 | print(isinteger("five")) # False o A 1:28}¢] 2, 3¢8] =g|2]o] sl S AU S &
o ey irhe @A -
T B2 A g el Ad e w=sh= tiAl

N
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TAES QI =2 WolX AT = 2o 2O True, 1EA| X O™ FalseE
W isfloat 5 of o mth =0l 5h50] 21334},
« 9 7}o]= 1 : ®A| partition('.") HIAE $5& 83t TAES A1
=
g 7Ho|= 2 1 ShollA FH-E isinteger ¥ A= &85t Z=190| h

’

t

1| def isinteger(s):

2 return s.isdigit() or \

3 s !=""and s[0] == "-" and s[1:].1sdigit()
4

5| def isfloat(s):

6 (Teft, dot, right) = s.partition(".")

7/ return None # Replace None with Boolean expression.
8

9| # Test code
10| print(isfloat(".112")) # True
11| print(isfloat("-.112")) # True
12 | print(isfloat("3.14")) # True
13| print(isfloat("-3.14")) # True
14| print(isfloat("5.")) # True
15| print(isfloat("5.0™)) # True
16| print(isfloat("-777.0")) # True
17| print(isfloat("-777.")) # True
18 | print(isfloat(".™)) # False
19| print(isfloat("..")) # False
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